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1. (d)
HTEA OE T ATl Ik 21 9 g oS ®,
T T B & HA AT, T, AHGIAS |
2. (c)
FEE TF I T ¢, I Feft qem v €

3. (a
‘I, ‘9, ‘| AT SERUl WIF HERl: AT,
e, < g €

4. (b)
e qH v €, I 9 ag9d visg 2|

5. (a)
I o T ¢ TSEeRT qgwe w9 g’ g €l
TEIGR THT W1 BT UK 7, I: U8 Th (IRE
I ¢ FRosil T [N 9 9 WIE T
e v ¢ TSR qgwd &9 e g g

6. (d)
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e, e el <8 @1 stef SR B R

7. (d)
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YA T T s SRR e 2
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10. (a)
“gia e T R w1 et -Tedl e e @)
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12. (d)
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foreqenfesierr @ Hefud s tfaerl 1 B 2
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()
(d)

(c)

3T YR T U1 Gy 21 3T veE o1 iy faese
‘o] + o B . THH ‘S’ & 9% ‘e’ oM ©
‘g' g1 71 90 Gy, W EY @ T TER B

(d)
&) o B B9 o1 ofavd SR, foRd) steHt
O <, IWE I e, Th-Teh & 99 T
M|

(@

sreia-forment sheal 9w § 7 8, sRE- U9 gafd
1 A T IR A, rifera- o e 7 fiedt =@,
- ISl 1 3797E|

(b)

3T 1 o7 - ‘F9g® U W AR A 7' ' B
S M AT SIHETel -3F[3 |, S el 7 8- 378
3R o 1 ST9E- STE el S 7

(d)

e v &

(b)

The Amazon rainforest is referred to as the “lungs
of the Earth” because it plays a crucial role in

absorbing carbon dioxide and producing oxygen,
contributing to the global balance of these gases.

(b)

The Amazon rainforest affects regional weather
patterns by generating moisture that contributes
to rainfall both within and beyond the Amazon
basin.

(b)

The passage highlights logging, agricultural
expansion, and mining as the primary threats
to the Amazon rainforest, leading to significant
deforestation and habitat loss.

()

Deforestation in the Amazon rainforest can lead
to the endangerment of species and disruption
of climate stability, as it impacts both local and
global environmental systems.

30.

31.

32.

33.

34.

35.

36.

37.

(3-A)

(b)

Conservation efforts are crucial for preserving the
Amazon rainforest’s biodiversity and mitigating
the impacts of climate change, ensuring the
protection of this important ecological system.

()

“Cataclysmic” denotes a disaster of epic
proportions, fitting for an eruption causing
extensive damage.

(d)

The exclamation in indirect speech often
maintains the emotion but changes the tense
appropriately, so “is” changes to “was.”

(@)

“Dull” is the opposite of “Vivid,” as it describes
something that is lacking in brightness, color, or
interest.

(c)
The correct spelling is “Perseverance.” The word
“Perserverance” is a misspelling.

(@)
I. Correctly punctuated

An exclamation mark usually shows strong
feeling, such as surprise, anger or joy. Using
an exclamation mark when writing is rather
like shouting or raising your voice when
speaking

II. Correct statement is I don’t often go
swimming; I prefer to play tennis.

Semicolon is used to separate sentences that
are grammatically independent but that have
closely connected meaning.

(9

A “road hog” is someone who drives in a way
that takes up more than their fair share of the
road, often causing problems for other drivers.

()

An exclamation mark usually shows strong
feeling, such as surprise, anger or joy. Using an
exclamation mark when writing is rather like
shouting or raising your voice when speaking.

Commas separate parts of a sentence into logical
elements. Commas have no meaning, but they




NEXT IAS

help us to see the structure and therefore the
meaning of the sentence

38. (b)
“Indifferent” means showing little interest or
concern, which contrasts with what was expected
in terms of enthusiasm.
39. (b)
oM efifey Head A, B @R C #
M AR = 7x, WA= 5/6B = 35/6x SRC= 9
B/7 = 9x1 A+B+C = 84.
A H W, B = 36 fer €
40. (d)
AT
T —> (TEl HeA) + Yeedl Wl = gl WEl
d:, 217 + 21 = 462
aa: (d) fo=1 2
41. (d)
AT
Toh: Ugell §E&A: 2 x (Ugell HEeA)+]
3d:, 18: 2 x 187 + 1= 649.
T GRR, 12: 2 x 12% +1 = 289
42. (d)
EsIicTup
M iy <Al Ryl % ot w5 d @)
X 9Y T IE1 HH H GHI = d/40 =
I A H FEA = d/80 I
FHA T = d/40+d/80=61
d & fau g ®E W d=160 o 9 g 2|
43. (a)
EsLicTu b
e 3k & 2 fashey € (1 91 3)|
39 4 R W W ySE ® 5 fawew B (1, 3, 5,
7, 9)I
@, Tt TEmew hi |/A & 2x51=2%625=1250
21
44. (d)
T HA B = (IR U + T4 F & - 1)
+ B S IUfEAd @l g + BE S ST g =
(10 + 15 -1) + 8 + 6 = 38
45. (b)
TRUr W AR He W SR R SEl W+ gE
& fooda feen § 225° g4 W o7 IW-4v=H
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53.

A)

FI IR Hg F @l ertl i Sw-ufv=w 9
uEl i g i fawia fxen 9 180° g4 W =%
e F R Te FE @S A
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g IS Gt 9 o 2, foed U wge
i § difern Bweat srergado #1 Hhd 1 2
(d)

BA: A WfST C, H %waer: WAl SR gfar @t
e B

o T T T 1 FER SR 4 W R

o yew il w1 1 R &R 2 W E

* o faR: C+H = 150

o ol U 4C + 2H = 440

T GHIFHTT il B FH W, THC = 70 o ©
(b)

THYM: AF ol S/l T el @ x €,

TEd SHIRAR # fied @i = 35x/100 3R TW
ITRER & et die = 65x/100

qr o o TR = 360 = 65x/100 — 35%x/100
X = 1200

(d)
HHIY:
Tah: 1°+1, 2°+2, 3°+3,
AT 6°+6 = 222
. (d)

BA: T A T S

N T €I JH — B %1 TIHE AM = 14-2 = 12,
34T YR, HR = 18-8 = 10,RD = 18-4 = 14
zafery, Pz = 26 — 16 = 10.

Tafere, 98 Pz 10 &1 =1fey

(b)

faem-dem (A=) ¥ was foaa & g

fyetar & den famm fedt fofa & s@e gmyM
ferTed 1 amar faswfad gt =, s afvla deies

* ITET B

(@

Te U FEl el T Safh wg uell 38 Wehd ¥,
AT 3R U S e o €

(c)

TSI arensti ® aer w1 fHar @ sefavard
H FHT Y A FRE wWiiHA 2, S W
IR ¥ 911 = 9 B
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FHealEs 929 H Tk T8 &9 H ufEfda s @
59 99R 9Fa W g9 R S 9o 2

(c)

T9iehl & Swd W Helfe STHSt 3R ISR
ST & § Sfed SRR i 3o gasq Iy
T | weg fherdt 2

(b)
g@ﬁgﬁﬁﬁmﬁﬁﬂ%ﬂﬁww
Teg fherd! @ iR sgfel & fog 38 ein af
AR &1 2

(©)

= g fagaT S afwa ol F wE h
feTT TaTs 1 @esl Hequl & S eTehel WAl §
e Tl 8 "Rl 2l

(@)

Teh IRGHR Teh ARG & oIt Uk sojfife s €,

AR T Hiiiqer Hiiiq & fow @R fafy s

FHA 21 I Hae § S9% garud & & fou

forega s =1 wiattee wfier 21

(d)

THAICP = x, A MP = 1.40x

TS = 1.40x F 25% = 0.25 x 1.40x = 0.35x

SP = 1.40x - 0.35x = 1.05x

Y =SP-CP= 1.05x - x = 0.05x

oY gfqerd = (&9 / CP) x 100 = (0.05x / x)

x 100 = 5%

(d)

o faum frafml - §, ww feafqar -
15)

o fouy fefqal o Y&ron &1 AW = 15 x 8 =
120

o gy feafqdi W Yeroli &1 AT = 12 x 7 = 84

° J{A A = 120 + 84 = 204

o T[ft YeTUN T WET = 204 / 15 = 13.60

(©)

THEM: 99 AAfSUC = TF 9% 1 F9 o3 3R
S= Tk %] hl Tashd g

ﬁm

7 (%@ -

63.

64.

65.

66.

67.

68.

69.

(5-A)

el AN = 40C, e fasha od = 40S

T = g TIRT o - |/ HI oA, o9
= 40S - 40C

S T @Y = § I i fawd god: 8S
gHfTT: 40S —40C = 8S —> C = 4S/5 sHfaiT, 9fd
TqE 9 = S-C = S/5

TAfATT &9 % = (S/5)/(4S/5) x 100 = 25%

(d)

g 0! ¥ Y& TH ol BeRIfEd H g
w1 gfdaffece i 81 9faT, SFren Je) 50 AM
120 =FM

(a)
Tel: YoM n fawd wiepfas e @
1,2,3,5, .., (2n-1).

qr, orafara |e =1+3+5+..
— 37Uf8d HI&T = n

(b)

‘T T OE Y § S HHS-HHIEE i
¥ Suctsy gifed gEel SR fwanet @ w@
gl H 9uiH w21 3O F gt Henfad
feofeml o U= el @ 5= |HeE @ &
forT @ ST gehar 2

(b)

‘Ea: wy o’ (FgRREe) w1 SEm
eI WMche U&H Hleh Sfea FHEAST &l
W T & ferg ffan s € S us uftget
ol e gHf=d & & a6 @Ra aHeH
T ST A W TR B

(d)
o 2 e # JuEl wgE = 4 WX - 3 HiX =
1 Hrex
o 20 HieX I UE=H F foTT, Tl *T T H
" 18 "R (36 e #) & 9% yuEl 9grE
18 HiX 2l
" g HI 3w 4 HieR = & fow 1 fge
R =feu
e HHA = 36 fHe + 1 foe = 37 fael

(@)

o fIm T wfdwrd: 100 % —> 3600 then, 15%
3600 x 15/100 = 540

()

oM ofife 3 fREeR &1 a9EH x C 7l a 24.4
= 2x24+x 3 = 25.2 °C

+(2n—1) / n
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(b)
WW%WSX@'{Z}(W%
5x + 2x = 49

= 7x = 49

X =17

Gl

5x = 35,2x = 14

AT 35/(14 + w) = 7/4 98 + Tw = 140
Tw =42 w = 6

(d)

T veal 100 T94 | Al =it @ o Wifd 75 '
o At aedl € o g8 75 w9 feem & uie @
25% WEM © A

fe= =1 g7 x 125/100 = 75

.. TEoA1 1 4 = 60

feem &1 A (40/100) x100 I 40% & fegrd
Y 7o ® WA 9 40 T GE ©

(©)

BA: UM AMTUAH x T&T o 8, @Bl 4x
& e

¢ T T & SER

4x - x = 45

3x = 45

X =15

9 T WY fadet

1/15 +1/60 = 5/60 =1/12 = 9 &k fg4 & qU
FT FH T AT, TH 9 FE W & fag
12 &7 =nfeu)

(©)

za: faqe s m & fou gd f= &= faget =t
Sre g oA, 3w feafa o 18 H @ fRd A
foigetl &1 =77 w1 7@ °C, el = 806 iRl
Y foran < Hea 2

(c)

S 1 AR ITR! SIS ® M ® FHA!
g1 Bl gEfae s g A 200% H Ifg H S
A1 A AT HT SC A GTRSA 9 AT BT ST AT
800% @1 ghg =

(©)
606 ! BISHF IWad Tt & i T AT 3 W
faumg =l 2

76.

77.

78.

79.

80.

81.

82.

83.

(6-A)

(b)

SMEAIHE dh Wied & oNUR W fswel a1
AT 39 HIEAT A1 WIehal & SMER T Sl
g o 9w € gEd e, frmes @, 9
YR T 2 a1 FIohy w1 TR 2 2

(b)

TA: ANB,ARB I & TuH dedl i gwifar 21
B-(ANB) =1 21 € o A8 37 qal = 8l
® € SAMBEA H €

W YR, B-(ANB) S° dl &1 ¥4 € I B
o € dfrTad T €, S B-A &I W & 2l
(©)

T > shfagd > @, sfeq > S\ > @i

= Temt, T o 9 999 B a% & FH ©:
Tl > Hfed > S > mfEn

(c)

frdurrenss gy Fevreress fofa frafar fg ek
Terdl 1 WAl <0 ©, WY GHEE % SEn
R @ R T fof o 7l

(b)

gel: 1 ¥ 200 % 3k ‘0’ I HA TSAM:
° THE TUM: 20 TAW

o TEE TM: 11 WA

37q:, | 31 T

(b)

o Tfq: frcimix wfq war - i wfq =
g o A9 1 Tk THhE B

o M Wfeway - Afeway I99E & °99 i
TH THE 2

o THAM: fhaum™m - fFamumd So99E & AT
F Th THE T

* [HY: Wudid - L9dard 99T ! a4 & fau
IYFN T ST STell Tk ST B

(c)

AT Tk 1 S h 81 Tl 1 ST = Y H

AT 4/3 xwxrP=1/3 xm x12xh.

h=4r

(b)

gitomdt o9 & A = A Sl o STIdd i

AT = (6)° + (8)°+ (10)° = 1728 9HY

gRomedt B @t ST =3v1728 It =12 It
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84. (a)
I H 4 FHTeAt SR 5 o WS E, geft Fredt W H
fau P = “C,°C, = 4/84 = 112

85. (d)
t=D/(S,-S,) (4N & Hiaehe1)
=8/(12-2)=8/10=28/10 x 60 = 48 fHe

86. (a)
TAEEE § BAN U 4 A ® I shad T X
#R 4 =499 (B, D, H, L) 39feT AB, AD, AH,
AL & fodt ot =R GaieF &1 ®od 4 G9Ed
21 39 YR 4 % ©

I 87 W 88:

fae=al 1 9= x 7E |

AT § g wE ® A% Iqe I Fe fHeal ®

e

=x-(x/2-1) =x/2+1

ATE H I P AK SHS UE o= Al w1 HEen

=x/2 -2

e sedl i < B A% IGH U9 o= TRl &

= = 1/2(x/2-2)=x/4-1 394 WE H 4 & %

I I o=t e @ W@ = x/4-2 = 1

T x = 12 Termn 2

87. ()
88. (c)

89. (b)
TI-T9gR § ardfaes sl T Y& & -9
afifeq T3w oR R-Aifgs Hhd JI 2 &

90. (c)

e HIeA Wifeeh W WSl el €, d T8 SAHAR W
i e @ T faravor <€ g gen e §, o
T AR TH A UB B

91. (a)

‘Me’!, G qedl A aRl Jod ¥ ged sifue
TIfed g1 € HFifR a8 AU Mo B gl godt
i &F § @ 2l

92. (c)

feum =1 YA UETcHe fTRE €21 & foaeo
1 it w@ & faw foeen smar 21
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93. (a)
FET HH § Yeel UNeheu Tl AN R, TN T
T, T2 Thd HET, RO 1 fagewor
AR ofq | kel @1 R s st 2

94. (b)
gfaHfaamer STAM o fREl Sed i HHe
1 3Mehe 36 SMUR W ST A € fr =@
Wy A EifEeEy 9 faha foed-Se T,
g warreqol fofa = Fed &)

95. (¢)
‘gfha g & AT o B g @wOIR
AT I &AM 31 IR I Iferd T&l w Wi
BT 21 ST ! AUd HET W AR W BIRRE
AT STl B SR 98 9Ea HEH § wWerdl el
LT B

96. (b)
‘T BAA’ YEEH H AU Sellfdeh QR
% fau S s €, foed s=i g6 @ ‘e
qmfeie gfshan forad 3T9 & Gered &1 fRwed
AR guret F SR fafem w5 e i
2" % wy | fren aftfa fean 21

97. (a)
afersa & wftomal 1 wfasgamft w6 o) Frofa o
F et w gfed w0 o e
fagetor faqeism =1 Aiedt 1 STAN & 2l

98. (b)
fafed §ar ¥ Tedl 4 guR &E & fau 98
ghfeed &6 & fau gwafen ok deem &
yfrer & for @ it oIk el 21

99. (c)
STEHN & q Thal HT AR o 1 Fohal €,
fooa =feaal & fou gfafsen 1 =R e
IR TS &M W AR HET YR & W R

100.(a)

‘ToTEe Sae e’ W U fafu @, sl wwemE
1 Therr fopan Sran @ @i 3= R wfafsran sk
RO @ SHR W gfgd fRe S 2




